0319:17 | CRYSTAL BAY, NV

01 LESTER HAD A COCONUT 7:33
02 RESUME MAN 6:06

03 DUDLEY’S KITCHEN 2:57

04 CAN'T WAIT ANOTHER DAY> 11:36
05 SO FAR FROM HOME> 2:44

06 WHEEL HOSS> 1:49

07 SO FAR FROM HOME 313

08 BETRAY THE DARK 10:06

09 DON'T LET GO 1n:44

10 COLORADO BLUEBIRD SKY 11:33

DISC TWO
SET TWO

01 DIRK> 14:00 g &
02 SAND DOLLAR 1250 = @
03 RESTLESS WIND 838 ™ | § Kin

04 GET TIGHT 613 T

:;:;Né&";‘I—IREE 7/{//’71,7?“(\\ 1

01 CLOSE YOUR EVYES 10:06

02 ROLLOVER> 9221

03 COLD SWEAT> 7:25 -
04 ROLLOVER 714 —
ENCORE

05 JELLYFISH> 10:57

06 THIS MUST BE THE PLACE (NAIVE MELODY) 9:31
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results), and you MUST make sure that the PAGE SCALING option is set to “NONE”. If you have PAGE SCALING set to “Fit To Printer Margins” or “Reduce to Printer Margins”, the graphics will not print at the correct size

for the standard jewel case. This is the most common problem people have when they complain about the artwork not fitting the jewel case! You can order Neato Labels from www.neato.com!
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